

Summary of Bids Received

Project: Delany Road Resurfacing **Section:** 17-00093-22-RS

Description: From US Route 41 to 400' N of Sunset Avenue

Bidder Peter Baker & Son Company	Address 1349 Rockland Road	City, State, Zip Lake Bluff, IL 60044	Bond Bid Bond	Bid Price \$947,960.39	% Over/Under Eng. Estimate -27.45%	\$ Over/Under Eng. Estimate -\$358,642.57
Payne & Dolan, Inc.	28435 W. Route 173	Antioch, IL 60002	Bid Bond	\$1,179,887.40	-9.70%	-\$126,715.56
Engineer's Estimate				\$1,306,602.96		
Design	IDOT(2)	Contract Bidder	F	PJT then Plan Rack		
Finance	Bid Tab File	Resident Eng.		Administrative Assis	stant	
Construction	Project File	Request By Mail		Mgr Capital Progran	mming	



Project: Delany Road Resurfacing

Section: 17-00093-22-RS

Description: From US Route 41 to 400' N of Sunset Avenue

Item No.	Pay Code	Description	Quantity	Unit	0 11		Payne & De	olan, Inc.	Peter Baker & Son Company		
	,	·	, ,		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
1	20200100	EARTH EXCAVATION	9.0	CU YD	\$45.00	\$405.00	\$100.00	\$900.00	\$125.00	\$1,125.00	
2	25200200	SUPPLEMENTAL WATERING	12.0	UNIT	\$50.00	\$600.00	\$0.10	\$1.20	\$0.10	\$1.20	
3	35101400	AGGREGATE BASE COURSE, TYPE B	569.0	TON	\$30.00	\$17,070.00	\$56.00	\$31,864.00	\$22.00	\$12,518.00	
4	40600290	BITUMINOUS MATERIALS (TACK COAT)	20,040.0	POUND	\$0.01	\$200.40	\$0.01	\$200.40	\$0.01	\$200.40	
5	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	5.0	TON	\$500.00	\$2,500.00	\$150.00	\$750.00	\$125.00	\$625.00	
6	40600535	LEVELING BINDER (HAND METHOD), N70	5.0	TON	\$140.00	\$700.00	\$130.00	\$650.00	\$75.00	\$375.00	
7	40600990	TEMPORARY RAMP	177.8	SQ YD	\$10.00	\$1,778.00	\$25.00	\$4,445.00	\$4.00	\$711.20	
8	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	65.0	TON	\$70.00	\$4,550.00	\$115.00	\$7,475.00	\$95.00	\$6,175.00	
9	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	117.0	TON	\$70.00	\$8,190.00	\$155.00	\$18,135.00	\$104.00	\$12,168.00	
10	40603565	POLYMERIZED HOT-MIX ASPHALT SURFACE COURSE, MIX "E", N70	4,989.0	TON	\$80.00	\$399,120.00	\$76.25	\$380,411.25	\$70.05	\$349,479.45	
11	42001300	PROTECTIVE COAT	765.0	SQ YD	\$2.00	\$1,530.00	\$3.00	\$2,295.00	\$2.00	\$1,530.00	
12	42300200	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH	27.0	SQ YD	\$80.00	\$2,160.00	\$69.75	\$1,883.25	\$65.00	\$1,755.00	
13	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,364.0	SQ FT	\$8.00	\$10,912.00	\$11.00	\$15,004.00	\$8.00	\$10,912.00	
14	42400800	DETECTABLE WARNINGS	224.0	SQ FT	\$30.00	\$6,720.00	\$30.00	\$6,720.00	\$50.00	\$11,200.00	
15	44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	40,435.0	SQ YD	\$3.00	\$121,305.00	\$2.35	\$95,022.25	\$1.90	\$76,826.50	
16	44000200	DRIVEWAY PAVEMENT REMOVAL	847.0	SQ YD	\$12.50	\$10,587.50	\$21.50	\$18,210.50	\$9.00	\$7,623.00	
17	44000500	COMBINATION CURB AND GUTTER REMOVAL	2,551.0	FOOT	\$10.00	\$25,510.00	\$16.50	\$42,091.50	\$5.00	\$12,755.00	
18	44000600	SIDEWALK REMOVAL	1,062.0	SQ FT	\$3.00	\$3,186.00	\$3.00	\$3,186.00	\$1.00	\$1,062.00	



Project: Delany Road Resurfacing

Section: 17-00093-22-RS

Description: From US Route 41 to 400' N of Sunset Avenue

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Payne & D	olan Inc	Peter Baker & S	on Company
	. uy couc	2000.1900.	Quantity	· · · · ·	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
19	44004250	PAVED SHOULDER REMOVAL	1,210.0	SQ YD	\$15.00	\$18,150.00	\$19.00	\$22,990.00	\$11.60	\$14,036.00
20	44201737	CLASS D PATCHES, TYPE I, 8 INCH	87.0	SQ YD	\$50.00	\$4,350.00	\$74.00	\$6,438.00	\$30.00	\$2,610.00
21	44201741	CLASS D PATCHES, TYPE II, 8 INCH	130.0	SQ YD	\$50.00	\$6,500.00	\$68.00	\$8,840.00	\$30.00	\$3,900.00
22	44201745	CLASS D PATCHES, TYPE III, 8 INCH	389.0	SQ YD	\$50.00	\$19,450.00	\$51.00	\$19,839.00	\$30.00	\$11,670.00
23	44201747	CLASS D PATCHES, TYPE IV, 8 INCH	259.0	SQ YD	\$50.00	\$12,950.00	\$37.00	\$9,583.00	\$30.00	\$7,770.00
24	44201761	CLASS D PATCHES, TYPE I, 10 INCH	117.0	SQ YD	\$50.00	\$5,850.00	\$92.00	\$10,764.00	\$30.00	\$3,510.00
25	44201765	CLASS D PATCHES, TYPE II, 10 INCH	175.0	SQ YD	\$50.00	\$8,750.00	\$88.00	\$15,400.00	\$30.00	\$5,250.00
26	44201769	CLASS D PATCHES, TYPE III, 10 INCH	523.0	SQ YD	\$50.00	\$26,150.00	\$63.00	\$32,949.00	\$30.00	\$15,690.00
27	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	349.0	SQ YD	\$50.00	\$17,450.00	\$50.00	\$17,450.00	\$30.00	\$10,470.00
28	60108104	PIPE UNDERDRAINS, TYPE 1, 4"	1,338.0	FOOT	\$35.00	\$46,830.00	\$44.80	\$59,942.40	\$11.80	\$15,788.40
29	60255800	MANHOLES TO BE ADJUSTED WITH NEW TYPE 1 FRAME, CLOSED LID	6.0	EACH	\$700.00	\$4,200.00	\$931.00	\$5,586.00	\$805.00	\$4,830.00
30	60261300	INLETS TO BE ADJUSTED WITH NEW TYPE 11 FRAME AND GRATE	1.0	EACH	\$700.00	\$700.00	\$1,219.60	\$1,219.60	\$598.00	\$598.00
31		COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	2,228.0	FOOT	\$50.00	\$111,400.00	\$38.00	\$84,664.00	\$35.00	\$77,980.00
32		COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	325.0	FOOT	\$55.00	\$17,875.00	\$50.00	\$16,250.00	\$45.00	\$14,625.00
33	67100100	MOBILIZATION	1.0	L SUM	\$60,490.88	\$60,490.88	\$29,000.00	\$29,000.00	\$56,442.00	\$56,442.00
34	70300100	SHORT TERM PAVEMENT MARKING	32,644.0	FOOT	\$0.10	\$3,264.40	\$0.50	\$16,322.00	\$0.01	\$326.44
35	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	982.8	SQ FT	\$1.00	\$982.80	\$0.01	\$9.83	\$0.01	\$9.83



Project: Delany Road Resurfacing

Section: 17-00093-22-RS

Description: From US Route 41 to 400' N of Sunset Avenue

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Payne & D	olan. Inc.	Peter Baker & Son Company		
	,	2 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3	ζγ		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
36	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	17,085.0	FOOT	\$0.25	\$4,271.25	\$0.01	\$170.85	\$0.01	\$170.85	
37	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	11,780.0	FOOT	\$0.25	\$2,945.00	\$0.01	\$117.80	\$0.01	\$117.80	
38	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	3,475.0	FOOT	\$0.25	\$868.75	\$0.01	\$34.75	\$0.01	\$34.75	
39	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	1,686.0	FOOT	\$1.25	\$2,107.50	\$0.01	\$16.86	\$0.01	\$16.86	
40	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	568.0	FOOT	\$2.50	\$1,420.00	\$0.01	\$5.68	\$0.01	\$5.68	
41	70300904	PAVEMENT MARKING TAPE, TYPE IV 4"	16,322.0	FOOT	\$1.20	\$19,586.40	\$0.01	\$163.22	\$0.01	\$163.22	
42	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS & SYMBOLS	109.2	FOOT	\$7.00	\$764.40	\$4.50	\$491.40	\$4.00	\$436.80	
43	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	346.0	FOOT	\$1.25	\$432.50	\$0.52	\$179.92	\$0.65	\$224.90	
44	/8000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	1,513.0	FOOT	\$1.50	\$2,269.50	\$0.65	\$983.45	\$0.80	\$1,210.40	
45	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	214.0	FOOT	\$2.00	\$428.00	\$0.98	\$209.72	\$0.97	\$207.58	
46	/X000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	50.0	FOOT	\$4.00	\$200.00	\$2.25	\$112.50	\$1.95	\$97.50	
47		THERMOPLASTIC PAVEMENT MARKING - LINE 24"	289.0	FOOT	\$8.00	\$2,312.00	\$4.50	\$1,300.50	\$4.00	\$1,156.00	
48	88600600	DETECTOR LOOP REPLACEMENT	389.0	FOOT	\$35.00	\$13,615.00	\$15.50	\$6,029.50	\$15.50	\$6,029.50	
49	LC400202	SEAL COAT	3,897.0	SQ YD	\$2.00	\$7,794.00	\$1.62	\$6,313.14	\$3.00	\$11,691.00	
50	LC600200	INSTALL SURVEY MONUMENTS	3.0	EACH	\$1,000.00	\$3,000.00	\$1,000.00	\$3,000.00	\$666.00	\$1,998.00	



Project: Delany Road Resurfacing

Section: 17-00093-22-RS

Description: From US Route 41 to 400' N of Sunset Avenue

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Payne & Do	olan, Inc.	Peter Baker & S	Son Company
	-	·			Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
51	LC780020	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LETTERS AND SYMBOLS	837.2	SQ FT	\$7.00	\$5,860.40	\$12.90	\$10,799.88	\$5.50	\$4,604.60
52	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	16,781.0	FOOT	\$1.25	\$20,976.25	\$0.40	\$6,712.40	\$0.95	\$15,941.95
53	LC780022	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 5"	10,268.0	FOOT	\$1.50	\$15,402.00	\$0.45	\$4,620.60	\$1.15	\$11,808.20
54	LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	3,394.0	FOOT	\$2.00	\$6,788.00	\$0.55	\$1,866.70	\$1.35	\$4,581.90
55	LC780025	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 12"	1,587.0	FOOT	\$4.00	\$6,348.00	\$3.20	\$5,078.40	\$2.75	\$4,364.25
56	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	279.0	FOOT	\$8.00	\$2,232.00	\$22.27	\$6,213.33	\$5.50	\$1,534.50
57	X0320050	CONSTRUCTION LAYOUT (SPECIAL)	1.0	L SUM	\$17,000.00	\$17,000.00	\$5,995.00	\$5,995.00	\$5,995.00	\$5,995.00
58	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	4,097.0	SQ YD	\$5.50	\$22,533.50	\$4.20	\$17,207.40	\$6.30	\$25,811.10
59	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	87.0	EACH	\$800.00	\$69,600.00	\$871.00	\$75,777.00	\$600.00	\$52,200.00
60	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3.0	CAL MO	\$3,000.00	\$9,000.00	\$1,250.00	\$3,750.00	\$2,500.00	\$7,500.00
61	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$36,294.53	\$36,294.53	\$11,600.00	\$11,600.00	\$13,970.00	\$13,970.00
62	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	269.0	EACH	\$30.00	\$8,070.00	\$28.00	\$7,532.00	\$23.89	\$6,426.41
63	XX003168	WORK ZONE PAVEMENT MARKING REMOVAL, SPECIAL	16,322.0	FOOT	\$1.00	\$16,322.00	\$0.01	\$163.22	\$0.01	\$163.22



Project: Delany Road Resurfacing

Section: 17-00093-22-RS

Description: From US Route 41 to 400' N of Sunset Avenue

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Payne & D	olan, Inc.	Peter Baker & Son Company	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
64	XX006344	SODDING (COMPLETE)	737.0	SQ YD	\$35.00	\$25,795.00	\$23.00	\$16,951.00	\$23.00	\$16,951.00
		Bid Tot	al			\$1,306,602.96		\$1,179,887.40		\$947,960.39



Project: Delany Road Resurfacing

Section: 17-00093-22-RS

Description: From US Route 41 to 400' N of Sunset Avenue

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20200100	EARTH EXCAVATION	9.0	CU YD	\$45.00	\$405.00	\$100.00	\$125.00	\$112.50
2	25200200	SUPPLEMENTAL WATERING	12.0	UNIT	\$50.00	\$600.00	\$0.10	\$0.10	\$0.10
3	35101400	AGGREGATE BASE COURSE, TYPE B	569.0	TON	\$30.00	\$17,070.00	\$22.00	\$56.00	\$39.00
4	40600290	BITUMINOUS MATERIALS (TACK COAT)	20,040.0	POUND	\$0.01	\$200.40	\$0.01	\$0.01	\$0.01
5	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	5.0	TON	\$500.00	\$2,500.00	\$125.00	\$150.00	\$137.50
6	40600535	LEVELING BINDER (HAND METHOD), N70	5.0	TON	\$140.00	\$700.00	\$75.00	\$130.00	\$102.50
7	40600990	TEMPORARY RAMP	177.8	SQ YD	\$10.00	\$1,778.00	\$4.00	\$25.00	\$14.50
8	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	65.0	TON	\$70.00	\$4,550.00	\$95.00	\$115.00	\$105.00
9	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	117.0	TON	\$70.00	\$8,190.00	\$104.00	\$155.00	\$129.50
10	40603565	POLYMERIZED HOT-MIX ASPHALT SURFACE COURSE, MIX "E", N70	4,989.0	TON	\$80.00	\$399,120.00	\$70.05	\$76.25	\$73.15
11	42001300	PROTECTIVE COAT	765.0	SQ YD	\$2.00	\$1,530.00	\$2.00	\$3.00	\$2.50



Project: Delany Road Resurfacing

Section: 17-00093-22-RS

Description: From US Route 41 to 400' N of Sunset Avenue

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
12	42300200	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH	27.0	SQ YD	\$80.00	\$2,160.00	\$65.00	\$69.75	\$67.38
13	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,364.0	SQ FT	\$8.00	\$10,912.00	\$8.00	\$11.00	\$9.50
14	42400800	DETECTABLE WARNINGS	224.0	SQ FT	\$30.00	\$6,720.00	\$30.00	\$50.00	\$40.00
15	44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	40,435.0	SQ YD	\$3.00	\$121,305.00	\$1.90	\$2.35	\$2.13
16	44000200	DRIVEWAY PAVEMENT REMOVAL	847.0	SQ YD	\$12.50	\$10,587.50	\$9.00	\$21.50	\$15.25
17	44000500	COMBINATION CURB AND GUTTER REMOVAL	2,551.0	FOOT	\$10.00	\$25,510.00	\$5.00	\$16.50	\$10.75
18	44000600	SIDEWALK REMOVAL	1,062.0	SQ FT	\$3.00	\$3,186.00	\$1.00	\$3.00	\$2.00
19	44004250	PAVED SHOULDER REMOVAL	1,210.0	SQ YD	\$15.00	\$18,150.00	\$11.60	\$19.00	\$15.30
20	44201737	CLASS D PATCHES, TYPE I, 8 INCH	87.0	SQ YD	\$50.00	\$4,350.00	\$30.00	\$74.00	\$52.00
21	44201741	CLASS D PATCHES, TYPE II, 8 INCH	130.0	SQ YD	\$50.00	\$6,500.00	\$30.00	\$68.00	\$49.00
22	44201745	CLASS D PATCHES, TYPE III, 8 INCH	389.0	SQ YD	\$50.00	\$19,450.00	\$30.00	\$51.00	\$40.50
23	44201747	CLASS D PATCHES, TYPE IV, 8 INCH	259.0	SQ YD	\$50.00	\$12,950.00	\$30.00	\$37.00	\$33.50
24	44201761	CLASS D PATCHES, TYPE I, 10 INCH	117.0	SQ YD	\$50.00	\$5,850.00	\$30.00	\$92.00	\$61.00
25	44201765	CLASS D PATCHES, TYPE II, 10 INCH	175.0	SQ YD	\$50.00	\$8,750.00	\$30.00	\$88.00	\$59.00



Project: Delany Road Resurfacing

Section: 17-00093-22-RS

Description: From US Route 41 to 400' N of Sunset Avenue

					Eng Est	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
26	44201769	CLASS D PATCHES, TYPE III, 10 INCH	523.0	SQ YD	\$50.00	\$26,150.00	\$30.00	\$63.00	\$46.50
27	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	349.0	SQ YD	\$50.00	\$17,450.00	\$30.00	\$50.00	\$40.00
28	60108104	PIPE UNDERDRAINS, TYPE 1, 4"	1,338.0	FOOT	\$35.00	\$46,830.00	\$11.80	\$44.80	\$28.30
29	60255800	MANHOLES TO BE ADJUSTED WITH NEW TYPE 1 FRAME, CLOSED LID	6.0	EACH	\$700.00	\$4,200.00	\$805.00	\$931.00	\$868.00
30	60261300	INLETS TO BE ADJUSTED WITH NEW TYPE 11 FRAME AND GRATE	1.0	EACH	\$700.00	\$700.00	\$598.00	\$1,219.60	\$908.80
31	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	2,228.0	FOOT	\$50.00	\$111,400.00	\$35.00	\$38.00	\$36.50
32	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	325.0	FOOT	\$55.00	\$17,875.00	\$45.00	\$50.00	\$47.50
33	67100100	MOBILIZATION	1.0	L SUM	\$60,490.88	\$60,490.88	\$29,000.00	\$56,442.00	\$42,721.00
34	70300100	SHORT TERM PAVEMENT MARKING	32,644.0	FOOT	\$0.10	\$3,264.40	\$0.01	\$0.50	\$0.26
35	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	982.8	SQ FT	\$1.00	\$982.80	\$0.01	\$0.01	\$0.01



Project: Delany Road Resurfacing

Section: 17-00093-22-RS

Description: From US Route 41 to 400' N of Sunset Avenue

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
36	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	17,085.0	FOOT	\$0.25	\$4,271.25	\$0.01	\$0.01	\$0.01
37	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	11,780.0	FOOT	\$0.25	\$2,945.00	\$0.01	\$0.01	\$0.01
38	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	3,475.0	FOOT	\$0.25	\$868.75	\$0.01	\$0.01	\$0.01
39	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	1,686.0	FOOT	\$1.25	\$2,107.50	\$0.01	\$0.01	\$0.01
40	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	568.0	FOOT	\$2.50	\$1,420.00	\$0.01	\$0.01	\$0.01
41	70300904	PAVEMENT MARKING TAPE, TYPE IV 4"	16,322.0	FOOT	\$1.20	\$19,586.40	\$0.01	\$0.01	\$0.01
42	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS & SYMBOLS	109.2	FOOT	\$7.00	\$764.40	\$4.00	\$4.50	\$4.25
43	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	346.0	FOOT	\$1.25	\$432.50	\$0.52	\$0.65	\$0.59
44	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	1,513.0	FOOT	\$1.50	\$2,269.50	\$0.65	\$0.80	\$0.73



Project: Delany Road Resurfacing

Section: 17-00093-22-RS

Description: From US Route 41 to 400' N of Sunset Avenue

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
45	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	214.0	FOOT	\$2.00	\$428.00	\$0.97	\$0.98	\$0.98
46	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	50.0	FOOT	\$4.00	\$200.00	\$1.95	\$2.25	\$2.10
47	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	289.0	FOOT	\$8.00	\$2,312.00	\$4.00	\$4.50	\$4.25
48	88600600	DETECTOR LOOP REPLACEMENT	389.0	FOOT	\$35.00	\$13,615.00	\$15.50	\$15.50	\$15.50
49	LC400202	SEAL COAT	3,897.0	SQ YD	\$2.00	\$7,794.00	\$1.62	\$3.00	\$2.31
50	LC600200	INSTALL SURVEY MONUMENTS	3.0	EACH	\$1,000.00	\$3,000.00	\$666.00	\$1,000.00	\$833.00
51	LC780020	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LETTERS AND SYMBOLS	837.2	SQ FT	\$7.00	\$5,860.40	\$5.50	\$12.90	\$9.20
52	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	16,781.0	FOOT	\$1.25	\$20,976.25	\$0.40	\$0.95	\$0.68
53	LC780022	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 5"	10,268.0	FOOT	\$1.50	\$15,402.00	\$0.45	\$1.15	\$0.80
54	LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	3,394.0	FOOT	\$2.00	\$6,788.00	\$0.55	\$1.35	\$0.95



Project: Delany Road Resurfacing

Section: 17-00093-22-RS

Description: From US Route 41 to 400' N of Sunset Avenue

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
55	LC780025	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 12"	1,587.0	FOOT	\$4.00	\$6,348.00	\$2.75	\$3.20	\$2.98
56	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	279.0	FOOT	\$8.00	\$2,232.00	\$5.50	\$22.27	\$13.89
57	X0320050	CONSTRUCTION LAYOUT (SPECIAL)	1.0	L SUM	\$17,000.00	\$17,000.00	\$5,995.00	\$5,995.00	\$5,995.00
58	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	4,097.0	SQ YD	\$5.50	\$22,533.50	\$4.20	\$6.30	\$5.25
59	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	87.0	EACH	\$800.00	\$69,600.00	\$600.00	\$871.00	\$735.50
60	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3.0	CAL MO	\$3,000.00	\$9,000.00	\$1,250.00	\$2,500.00	\$1,875.00
61	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$36,294.53	\$36,294.53	\$11,600.00	\$13,970.00	\$12,785.00
62	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	269.0	EACH	\$30.00	\$8,070.00	\$23.89	\$28.00	\$25.95
63	XX003168	WORK ZONE PAVEMENT MARKING REMOVAL, SPECIAL	16,322.0	FOOT	\$1.00	\$16,322.00	\$0.01	\$0.01	\$0.01



Project: Delany Road Resurfacing

Section: 17-00093-22-RS

Description: From US Route 41 to 400' N of Sunset Avenue

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
64	XX006344	SODDING (COMPLETE)	737.0	SQ YD	\$35.00	\$25,795.00	\$23.00	\$23.00	\$23.00
		Bid Total				\$1,306,602.96			